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OBJECTIVE 2-h: To graph linear inequalities in

two variables (inequalities are solved for y).
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Why Did the Three Pigs Leave Home? —
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describes the location of t
page 31 that contains the

@ y>-12-x—3
2

he graph. Print
number of the exercise.

@ x+y>

etter of the statement that
this letter in each box at the bottom of

correctly

@ 2x—3y<12\
y‘

Srocen URC
S5x+3y<x+6

y‘
e y‘
X x
0 4 N
] ¢ o X 0
4 b I
D Quadrants I, 11, Iv; S Quadrants I, I, Iv; 4 4
includes boundary line. excludes boundary line. K Quadrants |, 11, Iv; F Al four quadrants;

excludes boundary line.

excludes boundary line
E  All four quadrants; B Al four quadrants;
includes boundary line. includes boundary line. U Quadrants II, i, Iv; P Quadrants 1, 1I, 11
includes boundary line. excludes boundary line
I Quadrants I, 1, 1v; F Quadrants Ly,
excludes boundary line. excludes boundary line. I All four quadrants: M Quadrants |, 1, v,
includes boundary line. excludes boundary line
@) ysx-2 (@) 3x+2y<6
L: ¥ Y] e o
x ]
u ‘ e £ 5 ¢
] ~ 28 §p sz (=
I 5 =0 c O a0 —
' g i [ X > =5 Be =k
1% = DS 5D
n O g QS o 8 <
A S o T T,
Ll L) [\ g8 58 © 8 |-
i & 85 23 83 (=
- i ) G5 .3TE o8 2
L Quadrants |, II, v; C Quadrants i, m, v; @ 5 > & o =
includes boundary line. excludes boundary line.
=}
T Quadrants I, 1ll, IV: M Quadrants I, 1, 1v: X & . . s
includes boundary line. includes boundary line. F £ g 2 ©
] B B S
V Al four quadrants; All four quadrants; il = %’ g = 5 2 5
" : 62 =v =8 |o
excludes boundary line. excludes boundary line. 75} 5 2§ = g
e == Nl A ;;;;8 28 28 |~
s = > OS2 o Ty
@ y=2 ® x<-3 I 28 &% § g |w
- = © =2 =
| NEENZ NN V3 X =§g:8‘38
LS T P T L o (cuo‘_O...o)
. > o <« =
©
X >
0| X 0 @ & ©
£ = £ lo
eR s b
= 2 e =8 |~
P g e =
= s c =5
3 8 o i ._-§ 2 =2 |~
R Al four quadrants; ) L Quadrants I Il /;. £3 ST 25 3o gy
excludes boundary line. excludes boundary line. = g ,§ g g S ‘5 wn
. Us Y= g
U Quadrants I, lll: W Quadrants Ii, il & 38 28 3% |o
includes boundary line. excludes boundary line. @ -
b (> o4 d
H Quadrants |, II; G Quadrants |, lI:

includes boundary line.

excludes boundary line.



